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1. Compare the mechanisms by which a rise in cytosolic calcium

concentration initiates contractile activity in skeletal- and
smooth-muscle fibers. (15%)

2. List the sequence of events that occur between the entry of a sound

wave into the external auditory canal and the firing of action potentials
in the cochlear nerve. (20%) ‘

3. Draw a flow diagram illustrating the reflex compensation for
hemorrhage. (15%)

4. List the three inputs controlling rennin secretion and the sequence of
events leading from increased rennin secretion to increased
aldosterone secretion. (15%)

5. How does renal hydrogen-ion secretion contribute new bicarbonate to
the blood? What determines whether a secreted hydrogen ion will

achieve these events or will instead cause bicarbonate reabsorption?
(15%) | - |

6. Describe how plasma glucose, insulin, glucagon, and epinephrine
levels change during exercise and stress. What causes the changes in
the concentrations of the hormones? (20%)




